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Question Booklet bring it to the notice of the Superintendent/Invigilators immediately (o obtain a
fresh Question Booklet. :

2. Do not bring any loose papes, written ot blank, inside the Examination Hall except the Admit Cerd
without ifs envelope.

3. A separate Answer Sheet Is given. It skould net be folded or mutilated. A second Answer Sheet
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a3 anfeirmeans.
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are to recerd ike correct oplion on 1ke Answer Skeet by darkening the appropriate circie in the
correspomding row of the Amswer Sheet, by pen as mentioned in the guidelines piven on ihe
first page of the Answer Sheet.

. 9. Foreach question, darken only one circle on the Answer Sheet. If you darken more than one ciwele
or darken & circle partinlly, the andwer will be troated as incorrect.

10. Note that the answer once filled In ink cannot be changed. If you do not wish fo altempt o
question, leave all the circles in the correspending row blank {such question will be awarded
zero marks). |
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14U/ 102/26{1i)
No. of Questions : 200
gl A deAr - 200

Time : 2 Hours ¢ Full Marks : 300
avg : 2 W quiiy : 300

i . Each question carries 3
¢« (11 Attempt as many questions as you can
Note {1 ﬂ‘hufl marks. One mark will be deducted for each imrm;
anawer. Zere mark will be awarded for each unattempte

question.
mwﬁmmﬁmmﬁIMmﬂaﬁﬁﬂ
sidi @ ¥\ g% T I F ¢ 0B ofF BT AW
mm@mnﬁmmwam

(2) 1f more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

uﬁwﬁ%&%m«ﬁw%hﬁma.ﬁrﬁmﬂ

o I

1 | I and II are
1 r comprises of Five Sections. Sections :
& :::ls;:mry whzrcas only one Section out of 111, IV and V is to

be attempted. ‘
ﬂznﬁﬁtﬂﬂwﬁw%lwmﬁuaﬁaﬁﬁaﬂﬁﬁw

m.wavﬂ%%@wwwﬁ%-
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14%/102/26(1i)

~ Bection -1
oE -1
Chemhﬁy
(Compulsory for all)

01. The tgtal number of electrons present in 18 ml of water is ;

18 otfto w1t & o1 ST o) ey 2
(1) 3.:'346 x 102 (2) 6.023 x 10
(3) 6.023 x 10 (4) 10.841 x 10%

02. in the titratitjm of Na,CO, by HCI using methyl orange indicator, the
velume required at the equivalence point will be if that of the acid
required using phenolphthalein indicator is 10.0 ml :

(1) S5.0mi. (2) 100ml. (3) 15.0ml (4) 20.0 ml.

(1) S.0Modlo - (2} 10.0@odfto
(3) 15.0Rodhe (4) 20.0@cshto

03. Bohr's model explains :
(1} the spectrum of hydrogen atom only
(2} the spectrum of an atom Or an ion containing one electron anly
(3) the spectrum of a hydrogen molecule
(4) the solar spectrum
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03.

14U/ 102 /26(1)

T P UisA AT HEN 8

(1) @ H atom B W Bl
(21Mﬁmmam%ﬁﬁnﬁwawawﬁﬂﬂﬂﬁ
(3) FEEOET I & WA B

() g4 & Qagd B

Equal weights of methane and oxygen are mixed in an empty vfsse]
at 298 K. The fraction of the total pressure exerted by methanc is

o @ adw # 208 K @iq ¥ 37 qem STy & W A
Pt B T ¥ g e § AGE D G" WA M

| 2 _3'_
- @ > @ @ 3

When two reactants A and B are mixed to prod}lce_C and D, the
reaction quotient (Q) in the beginning of the reaction 1s :

(1} Zero : (2) decreases with time
(3) remains unchanged with time . (4) increases with time .

s &7 afRrEdE A ol B e ¥ af ¢ olR D B, aw oAfuthar
3 grow ¥ P TeTiE (Q) @

(1) = (2) R4 & Trer g2

(3) 99 & W mRakia @ (4) 9 & Y TP

The pH of 10 M solution of HCIO, in water is !

(1) between 6 and 7 {2) between7 and 8

3) 8 (4) between 8 and 9

o= & 10° M HCIO, ® R/ & PH &0 : ;

n) 6 73 da @) _gggg_g; ‘:‘?E,Lf&

RN (4) Bwar o 08 5
5
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14U/ 102/26(ii)

07.

08.

Which one among the following is diprotic ?

FH § Pr-ar fewfors 8 7
(1) H, PO, () H,PO, (3} H, PO, (4) H, BO,

During depression in freezing pﬁint in a solution, in equilibrium are;
{1) liquid solvent and solid solvent

(2) ligquid solvent and solid solute

(3} liquid solute and solid solute

(4) liquid solute and solid solvent

R ¥ O% B ® oewis § w8 : 93 &
(1) #a faeas o= W Frnas |

(2) =9 faomas aur St AN

B) =a Ao Tur 3 e

(¢) 9 faew Tar 3| Reas

For & lirst order reaction :
A - products

|A] changes from 0.1 M to 0.025 M in 40 mins. The rate of the reaction
where [A] = 0.01 M is :

T Ffe Hit wtufEFw 3 Rig,
A>3

1% [A] 40 BT § 0.1M | 0.025 M 7 iRl &ty &, & s
# T ST [A] =-0.01M R

(1} 6.94 x 104 M min! (2) 1.73 x 10> M min'
(3) 3.47 x 10 M min™! (4) 3.47 x 10* M min~’
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14U/ 102/26(H)

10. A monoatomic gas undergoes a process in which the ratio of P to V at
any instant is ogt;mtmlt and equals 1. What is the molar heat capagity
of the gas ?

wmhm-%ﬂﬂmWhMWW
Rftre o orf ¢ ,

3R 4R 5R
1y o @ ® 5 4 =

11. A positron is emitted from  Na”. The ratio of the atomic mass and
atomic number of the resulting nuclide is :

 Na® q T WA Preerar ¥ 1 aRowdt fdee & qrny E= o

o 23 | 23
o @ 5 @ 1o @

12. The number of Lone pair (s} in XeF, is : .
XF A ormadE @ g @ wen ¥
(1) 1 (2) 2 3) 3 (4) 4

13. Native silver metal forms a water soluble complex with a dilute solution
of NaCN in water in the presence of :

(1) argen (2) carbon dioxide
(3} mnitrogen ~ {4) oxygen

nﬁﬁmmwgugNacniﬁw(mﬁ}%mﬁamw
auftafy o o # Rorastiar wyors A &=TT ¥

(1} T (2) HET E SRS
@ T (4) m

7

L]
gcollegedunlae
India’s largest Student Review Platform

—



14U/ 102/26{1i)

14. {NH,), Cr, O, gives on heating a gas which. is also given by :

[NH,]ic:r,o.,.nﬂ Y T N Prepeer 2, 8 e e et B
(1) NH, NoO, - - (2] NH, NO,
(3) MgN, + H,0 | (4) Na metal + H.O

15. The complex ion which has no d-electrons in the central atom is -

ﬂﬁwmmmmiﬁ%d-MHﬁ:
{1} MnoO, (2} Fe(CN)>
3] CoH,0) - (4) Co(NH,)}

16. Among the following which one js the most basic ?

(1) Aniline (2) Benzylamine
(3) P-nitroaniline (4) Acetanilide
¥ A A9 sarer ardg B _ , |
(1) R - | (2) Worer arge
(3) Y-Stz reia (4) afyeTeree
17. 1-Chlorobutane on reaction with alcaholic potash gives :
(1) l-butene (2) 2-butene
(3) l-butancl -  (4) 2-butanol
1-FNR=2T cowrew drdte & wg sy wr &y &
(1) 1-=g2= . (2) 2-sgd=
(3} 1=t (4) 2-s1w
8
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14U/ 102/ 264i)

18. The reaction of toluene with chlorine in the presence of ferric chloride

19.

20.

21.

gives predominantly :
(1} benzayl chloride (2) m-chlorotoluene
(3) benzyl chlonde (4) © and p-chlorotoluene

£ afufem aNdw @ aY AR%E waEE #H
mmth;ég Qllﬁucgc’ﬁ\ ggE IR ¥
(1) A=NEA FANOES (2) AT-FAASIYSA
(3) ATE FANTES (4) ot ot YRT-aAdETeRT

Benzene diazonium chloride reacts with phenol in a weak basic
medium to give :

(1) diphenyl ether (2) p-hydroxy azobenzene

(3) chlorobenzene (4) benzene ,

ﬁmmmﬁmmﬁ@a
qregs & HOA R @ o A 8 ¢

(1) SHDFE 34T (2) Yr-EEEldl TR
(3) FENCRATAT (4) A=

which of the following compounds is oxidised to prepare methyl ethy!
ketone 7 - !

{1] 2-propanol (2) 1-butancl

(3) 2-butanol {4) tert-butyl alcahol
mﬁﬁmm%mﬁm-@aﬁaqmamm
(1) 2- =t (2) 1-g2

(3) 2-sgeHr (4) - Qe

An enantiomerically pure acid 18 treated with a race mi_c mixture of an
alcohel having one chiral carbon. The cster formed will be :

{1) an optically active mixture (2) a pure enantiomer
(2} & meso compound (4) ‘e racemic mixture

o #ro.
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14U/102/26{il)

s R RS & IR Rrad ©F FER
ma)amwwmiam?w( A
(1) @5 T afea st (3) o gt =y

(3) o dr D 5 (4) T feyaroy
22. Kolbe's electrolysis of potéséi'um succinate gives :

(1) CO, and ethane _ (2) CO, and ethene

(3) CO, and methane {4) CO, only

23. The compeund that is most reactive towards nitration1is 5
t[1] ‘ tnluer?e (2} benzene .
(3) benzoic acid (4) nitrobenzene

s A TF2a F Riw watfs afry & -
(1) g - (2) SN+ (3) ASNTFH QR (4) RSN

24. Thet - i X
glueco::} ;?:rél; lgli:'[ D glucaopyranose obtained from the solution of D-

(1) enantiomers(2) epimers . (3) anomers (4) isomers

%@?%WWQD-@W%WﬁQEﬂ%m
(1) ofdfer =g (2) e (3) TIEH (4) swEEad

25. A metal nitrate reacts with Kl to gi
iti : ' 0 give a black precipit :
addition of e P C]p! ate which on
of the meta] gﬁrs:tfi;{ I cOnVerts to orange colour schution. The cation

T% 9 =T KI & . B A AT Fr B ainy &
g@%ﬂﬂm%mﬁm%:mmﬁmuﬁm
) Hg® @) po> (3) lur (4) Bi*

10
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swtbn )4 §
wros - 11
Mental Abllity
(Compulmy for all}

26. If GIVE is coded- as 5137 and: BAT is coded as 924, then GATE is
coded as :

waixa'EﬁmMG*lmt 5137a?|TBATa§‘fﬂ§1'sﬁlmmm
R, 924, & GATE % Frs a7 Sty ¥

(1) 5427 (2) 2547 (3] 5247 (4) 5724

27. Choose the group of letters which is dlffcrent from othera

ﬁwﬁ%ﬁﬂwmﬂ%wwwﬁ@h@ﬁéﬁw
&

(1) ABD 2 HIK (3) VWZ [4; QRT

48. Find out the missing number in the followin’g :

ﬁqﬁiﬁaﬁmm@qﬂ'&ﬁrﬁawmtl
9:80:7: ...
(1} 48 (2) 50 (3)y 78 [4) 82
20, |dentify a wrong nut'nb;zr in the foﬂnﬁné series :

ﬁmﬁﬁﬂ%ﬁmﬁﬂﬂwﬁqﬁﬁswt:

7. 28, 63, 124, 215, 342, 511 . |
1y 7 @ 28 . . (3 14 (4) 215

11
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14U/102/26{ii)

30. Find the missing number (?) in the following figure :
t

ﬁnri%lmaﬁaﬂgﬁ(?)ﬁwﬂ?r‘maﬁﬁq:

B

(1) 52 (2) 36 . 3 17 (4) 81

31. Sunita ranked 11* from the top and 27* from the bottom in a class.
How many students are there in the class ?

%mﬁgﬁmmﬁn&wwﬂmﬂ%ﬁ2ﬁw
97 ¥, 9 39 w9 F fpey faarst ¥ 7

(1) 38 (2) 28 (3) 40 (4) a7

32. A and B are brothers. C and D are sisters. A's son is D's brother. How
is B related to C ?

(1) Father (2) Brother
(3) Grandfather (4) Uncle

A T B & g1 ¢ 3 D .3
%,E?taaﬂ'{;rir&ww%? TN LI E ey

(1) T (2) W (3) =T (4) ==

33. The sum of two numbers is 80. If the larger number exceeds four
imes the smaller one by 5, then the smaller number is :

mﬁﬁwﬁmﬁwm&m@ﬂﬁm,%#ms%
TN 99 den B, O o) dwar and
(1 s (2) 15 (3) 20 (4) 25

12
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14U/ 102/ 26(1i)

4. [ the pcrir-ncter of a rectanglé is 82 m and the area is 400 rﬁ‘*, the
breadth of rectangle is :

(1) 25m. (2) 16 m. (3] 9 m. (4) 20 m.

o saa B Anfee (ARm) 82 WieT § ol I @Eed 400
Fhdex &, @ omaa # deE & -

1y 25T (2) 163MeT L (3) 9HRX (4) 20T

38. The ratio of number of boys and girls in a school of 720 students is
7 : 5, then how many more girts should be admitted to muke the ratio
as1:17?

790 PTG aieh o wswen ¥ ag@ A w0 S
7:53,ﬁtw.aﬁmaq?r1:ta:rﬁ%i%ﬁﬁmﬁaha$ﬁ5ﬂw
T3 AEYTH & 7

(1) 90 2 120 (3) 220 . (4) 240

46. A train which is 700 m long, is running at the speed of 72 km per
hour. If it crosses a tunncl in 1 minute, then the length of the tunnel

in meters is :
{1) 700 m. (2) 600m. (3) 550 m. (4} 500 m.

wwmaﬁﬁ?mﬁH%,nﬁﬁsﬂﬁanﬁﬂ%aﬁmﬁr
X o @ B | OPR a8 W wH g b ) Prve F aT Hh §, @
gén i s Wit 7 o

1y 700#E@X  (2) 600X (3) 550 HiEx  (4) 300 "I

37. The area of largest triangle that can Pe ull{:scnbed _igﬂqiapmici;_'cle f}f
- fadins "ris: . L | i il g 1
{1} 2rem? (2) rPcm? (3) ,Jsruh’ : M) "2 xfcm

1 3 ’fTI 0‘
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14U/ 102/26(il) .

T AR WY o S o B e e A s heTET B
HEL guEn T @, #e |
(1) 2r t Fflo @) 2 at o
(3) 8r & o (4) 2xr & Jfto

38. If one-third of water tank holds 80 litres of water, then the quantity of

water that can be held in half-full tank will be :

BO ;
(1) 3 litres (2) 100 litres (3) 120 litres  {4) 240 litres

wﬁﬂﬁﬁﬁ%w—ﬁmﬁﬁg&% B0 T Ul v& T
8, ar omdll w8 g 2w fpae oeht T @Rl B 7

80 -
) 7 #eT @2 100#ex (3) 120X (4) 2407

39. In an examination, 35% of the studcﬁts passed and 455 failed. How
many students appeared for the examination ?

& T §, 35Hhmmqmgqeh455%§q ar witen #
R o 33 gu 9 ?
(1) 490 () 700 (3 845 (4) 1300

40. if 5 men, working for 6 hours a day can reap a field in 20 days, then

in how many days, will 15 men reaf: the field ? The hours of the day
may be taken as 8 hours :

{1) 5day§ (2) 6 days 3) 7-;- days (3) 9 days

!

14
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1401/ 102/ 2814i)

wswwmﬁmﬁﬁﬂ%m, 20 fas # G WA
¥ @ 15 e S @ B B RE 7 w1, oo ws R & 8
€ & W& Y 7

j

(1} sRA 20 6T (3 75ﬁ?r 4) oR=H

41, The difference between the interest received from two banks on Rs.500

for 2 years is Rs. 2.50, then the dii‘!‘crjéncc between their rates is

(1) 1% (2) 0.50% (3) 2.50% (4] 0.25%

aﬁﬁﬁﬁﬁmmwzwﬁswﬁmzsnmﬁ
¥, D o AT Fwr 3 =T & B H=AT B

(1} 1 ufyera {2} 0.50 uferar
(3) 2.50 nﬁ'fam: (4} 025 ufwa

Af./ Choose the number which is different from others in the group !

e @ AT &&A1 W gET ¢ ~
(1) 12 (2) 25 3) 37 (4) 49

" Chaose the numbers which is different from others in the group :

WE | FT FEN B Y ¢
(1) 751 ) 734 (3) 981 (4 883

15 PY.0.
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14U/ 102 /26(1i)

. #4. At what time between 7 and 8 o'clock will the hands of a clock be in
the same straight-line byt not together ?

2

(1) 5 minute passed 7 (2) 577 minutes passed 7
3 . 5 .
(3) Sﬁ minuties passcd 7 (4) S'I—I minutes Pagggd 7

v T TR & 7okt 87X B Ay F P At T @ o
% AfeFy o |\ Tt ?

(1) 789 § sz ag (2) 7@&5%_1?132“
(3) ?ﬁ%ﬁsl—?’l-ﬁmzaﬁ (4) ?aﬁ'fﬁ:‘-%ﬁﬂzm

48. Find the odd one :

AT yseEng -
(1) EDCBA {2) PONML (3} UTSROQ 4) YXWVZ

46. Which one of the following animals is vegetarian ?
(1) Wolf (2] Rabbit
(3) Fox {4) Wild bear
Frefafe & 4 @9 ar Qar smey & o B sl § 2
(1) = (2) ST (3) A=E (4) SRR Wy

47. Who is the cricket player of India who has received the first Bharat
Ratna during the year 2014 ?

(1} Dhyanchand (2) M.S. D'hooni
(3) Sachin Tendulkar (4) Virat Kohli

16 -
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48.

49.

50.

14U/102/26{M)}

ﬁqﬁﬁﬂaﬁﬁwﬁmﬁﬂwﬁﬁem@%WWMﬁ
o1 7 GEST ARA-T Ara Bear 7

(1) &9 9% (2) wEE fg o
(3) R a-gaEs @) Rz HEd

Which city out of the following is known as the city of Lakes and
Mountains ?

(1) Jaipur (2) Haridwar
{3) Bhopal {4} Lucknow

ﬁﬁ%ﬁﬂﬁ%%mﬂmmﬁﬁlﬂﬁﬁﬁaﬁmmm
FE AT X 7

(1) gL ) sfar (3} AT (4) WETH
Spot the stranger in .the'follnwing ;

(1) Rose (2) Marigold

(3) Lily (4) Lotus

W#ammwwmwmammam
AT 8 ?
(1) T @) "N (3) Rt (4) HAA

Which number would replace question mark in the series :

o # gewEveRs fre @ @ 9T W8 3w g
7,12, 19, ?, 39. '
(1) 29 (2) 28 @) 26 4 24

17
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Sl.

83.

Section - I
ovs - I
Physics and Mathematics
(Physics)

E, m, I and G denotes energy, mass; angular momentum and
gravitational constant respecti vely, ER/ (m® G?) has the dimen sions of ;

(1) Ampere {2} Mass (3) Length (4) Angle
S, AT, Bl 63T e e Pradien war: E,m, | &1 G
e Frefe @ &), Er/ ms 63 famr -

(I) & (2} HE (3) g (4} @y

In a clockwise system : which one is correct ?

<R PR ¥ 9 wd & 2

(1} jxk=i (2} ixi=o  (3) jxjeo (4} ixk=0

If the torque of the rotational meotion about the given axis is zero then
the constant quantity about the same axis is ;

{1} Torque | (2) Angular momentum
(3] Inertia (4) Moment at Inertiag
g% R @ e B wnyy goie ech ' ~Jmyef
9T a1
T e B G AT fegr » 7 W" . Eram
(1) ST-3meget (2) =i g3
(3) “FS (4) Sre@ gt

-18
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K4. The height of water fall is 50m. Calculate the difierence temperature:
of water at the top and bottom at the fall.

IJ = 4.2 x 10 erg/cal and g = 9.8m/sec?]

mmmﬂﬁésow%m%aﬁ&wm%ﬁa
Fe 3 99§ ST W A }

[J = 4.2 x 107 3L /&HeNQ afw g = 9.8 W/8Y
(1} A =0.4351°C (2) A =0.3125C
(3) aAt=0.1167°C (4) At =0.0167°C

8K. A man weighting 75kg lift a body of 25kg to the hight of 10 meterin 5
minutes. His power is :

(1) 7.33 J/fsec (2) 8.33 Jfsec
(3) 9.33 J/sec . (4) 10.33 .J/sec

7sfasmzm§;rqmmﬁazsﬁamﬁ$maﬁrazﬁtw}ﬁﬂﬁ%
< 5 Rz i ggaen &) IE afE 3-

(1} 7.335®/8o (2) 8.333/do
(3) 9.33 I/ Ho (4) 10.33 SJ@/ &0

56. A sphere of mass 'm’ moving with velocity "W’ hits another stationary
sphere of same mass. If e’ is the coefficient of restitution what is the
ratio of velocities of two spheres after the collision ?

v, _(1e) L[}z"
(1) E-[;;] @ v, e,
Y e | ..31.;[1_1]
By, [1.&,)- 4 27y, fde .
19 P.T.O.
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57. If linear momentum of a body is increased by 50%, its K.E. will be

increased by :
yﬁgﬁawwawaﬁq@aﬁ%ﬁmmm
{1} 50% (2) 100% (3) 125% (4) 150%

58. A simple harmoni ; ; a0
maximum velncill]f;cﬂlr?l?%g!? has amplitude ‘A" and time period ‘T". The

1) 4AT =
(1) (2) T (3)  2nJaT (4)  2xAT

§9. A particle move 3
3 $ such that 1ts accele : Pt = .
penad of oscillation is : fation ‘a’is given by a = -bx. The

;Eﬁm:rﬁrwmwmw'a'ﬁm%aﬁanbx%lmmﬁaaﬂa

In oil the block floats with O g i 4
the density of wood? [p = 1*0’EJ lfgf; :;T}Iumt submerged. What wil] be

1) 33
o o
2/m {4) 667 kg/m?

TF Tl 1 o= § &) A
%Wo.gogqa?m ea-‘ﬂ?i?gfm %rﬁﬁ%ﬁglaﬁ

[ 2,= 10° R/
(1) 334 fpmy/wp (2) 445 Ry 0
(3} 556 fpgr s (4} 667 fpay

20
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61. A gale blows over a house. The force due to gale on the roof is :
(1} Downward (2) Upward (3) Horizontal (4) Zero

%ﬁﬁﬁﬁm%m%ﬁw%laﬁ&ﬁ%mw%m
q¢ FF F

(1) & M . (2) FHIC AW ML
(3) AR oERer ¥ @ =

62. What is the bulk modulus of water it its volume changes from 1Q0
litre to 99.5 litre under a pressure of 100 atmospherc ?

(1} 2.026 x 10° N/m® (2) 4.086 x 10° Nfm?
3) 6.861 x 10° N/m?’ (4) 7.861 x 10° N/m?

ol 7 ST SR Uit 941 B, SFX 100 dIeY ST 100°
Wmﬂgg.smﬂqﬁaﬁaam%?

(1) 2:026 x 10° YA /AP (2] 4.086 x 10° TgEA/H:
(3) 6.861 x 10° =IH/H¥ (@) 7.861 x 10° e/

63. An observer standing at sca coast observes 54 waves reading the coast
per minute. If the wavelength of the wave is 10m. What is the velocity
of wave ?

(1) 9m/sec (2) 10 m/sec (3) 12'm/sec {4) lﬁm{sec‘

mﬂyémﬁwﬁm.nﬁﬁmﬂ%aﬁaﬁmm
% aft aenRe 10 HeT & A aTr B AT T EW !

(1) 9fo/Bo (2 10 Moo (3) 12%¥ic/Aa 4) 16 Ho/Ao
64. What is the maximum possible sound level in dB of sound wave in
air? If o = 1.3 kg/m?, v = 332 m/sec and P = 1.01 x 10° N/m*

i st e & WX 4B ¥ F & ? 3R p, = 1,3 6/
#, v = 332 No/Ro TGP = 1.01 10% =gET/HP.

M) 100dB () 150dB @) 190 B “ﬁ; 200 dB

N k .-1.'
21 PT.O.

L]
gcollegedunlae
India’s largest Student Review Platform

—



14U/ 102/ 26{ii)

65. One litre glass flask contains some mercury. It is found that at different

temperatures the volume of air inside the flask remains the same.
What is the volume of mercury in this flask ? If coefficient of linear

expansion of glass is 9 x 10%/°C while of the voiume expansion of
mercury is 1.8 x 10-/°C, '

CF Slet & MY F wes A g oD B o@w ogmmr o B
SICT-HIWPT A G UTE B =L a1 S ST G @ 3
S W AT R B o B or=T ? ait o @t Yelig gare
TN 9x10%/°C R Fa" THR ol 1.8 x 104/C B

(1) 50c¢c (2) 75cc (3] 10Ccc (4) 150 cec

66. Two plates each of area A, thickness L, and L, and thermal

conduclivities K and K, respectively arc Joined to them to lorm &

L]

smglg plate of thickness (L, + L,l. If the temperatures of the free
Surfaces are T, and T, what is temperature of interface ?

ﬁlﬁﬁhﬁﬁmwé\mﬁ,tﬁaﬁgwgmmm
K, T K, 8, % NeHT (L, +L,) Terl BN oF Dz 90 sy 2| afe
T St B WA T, T T, 8 N SHTETE B aras S

L L
rli,p Lo = L L
{*m ?Kl] ['z‘k‘i‘*'“ré]

(1

~——
-~
- | =
] Ihp
R
D
| —|

5

+
3
=
‘ J

~t
A

e

m—r
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&7. The variation of the volume with pressure of a fixed amount of gas

has been shown. The change in internal energy of the gas will be
shown by : _

ECLE
a3 g Fraa s @ W B Q@ AEaT B 9
f&mgrqw%iﬁt{%mﬁasmﬁqﬁaﬂﬂﬁm%mm
| o ?

P

(1) E] | @ E

i v
»V 3.

a | & RS

v L

G8, Aglass pﬁém of refractive index 1.5 is immersed mn water {(n=4/3).A

light beam incident normally on the face AB is totally reflected 10
reach the face BCif ;-

LG EIe 3 (s =4/3) T U W
1%51"! s mﬁﬂmwml% aﬁ?gﬂ%ﬂﬂngﬁﬁ
gae BC ST gfg R ST

=y

3
| 7 ST g 2 —
(1) Siné>7 | (2) -3-}5“19}.6 (3) %IRGS 7 [4l =
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69. Light is incident normally on a difl'rac'tion' gratng through which the
first order diffraction is seen at 32°*. The second order diffraction wilj

be seen at : i
(1} 48° (2) 64‘
(3} 60° {4) No diffraction

T R AT W1 qent &9 & R, 32° 9¥ Ferferer dfr B wra
amamﬁﬂﬂ'&wmﬁmhmmwﬁaﬁqﬁ@m:

(1) 48° (2) 64°
(3) 60° 4) 32 RfaT I8

70. The resistance R of a conductor varies with temperature as shown in
figure. If it is written as R, = R,(1+at + p¢? +§t'y;

4+ Resistance

= v : g
Temperature

(I} a& B are positive but § negative
(2} ais Huuhive B & 3 are negative
{C) a,p & 5 are positive

{4 a,p & § are negative

24
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@mﬁmwimﬁﬁﬁﬂmqﬁaﬁﬂamﬂl
i wfede B fora .o R, = Ry(1+at +pt’ +51") ar :

(1) umsm.awm
(2]. uﬂmﬂiﬁ,.ﬂmswm
{3) o,p TA 5%&‘-’“
(4) «,p AW 5 FOTEED B

‘ : ini ulphate solution, a current
ervolta meter containing copper 8 '
- Lril'a;c:r':::)cre is passed for I hour. Taking the ECE of oﬁ;ﬁilss
0.000329gm/ coul, the weight of copper deposited 15 appr ,

(2} 1.2gm
1} 0.6gm
:3{ 0.12gm . (4) 0.0329gm

ﬁ%WﬂWWMWWI% | ofaae =
m:nwwﬂ@ﬂﬁm 2| ar @1 $o o Fo 0.000329

(1} 0.6 Wo (2) 1.2 Mo (3) 0.12 W© (4}  0.0329 o

732, Curle temperature of Iron is that temperature below whi-n:h.it 13 :
' {1) ferromagnetic (2) Elcgm'cally conducyve
AR S awoﬁdﬂcﬁng 4] .Radiuact_w:

P.T.O.
a8 P
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ﬁ%%mﬂﬁwmwiﬁmﬁﬁﬂum:

(1) Negeriy 12) A g=mm
(3) =TT (4) IRy

T3. ' ; L '
3 ﬁhe wavelength of K, in X-rays produced by an X-ray tube is 0,76° A
at 18 the atomic number of the anode material at the tube ? +

X-F6ToT TR arr smer SEEIE-2s .

‘ . ® WY 0.7 ~HFr
A qamf &1 93Ty e gy @ 2 A ?
(1) 10 (2) 20 (3) 30 . {4) 40

74. ‘ i ‘
4 Ca{cglate the mass in grams of a radicactive sample Pb** having an
activity of one microcurie and half-life of 26.8 minﬁtcs

Wi i pooe @ B R
 EFPIH B WM F '

Sk 0% MR T srdey 26,8 e ¥ ¢ .

(1) 3,05 x 10 gn (2) 3.05.x 10 gm

(3) 4 x 105 gm (4} 4.5 1016 g

78. - : '
A semi-conductor has an electron concentration of 4.8 x 10! my3
2 hold concentration of 5.0x ] g2 m-. Calculate its c 'd L .and
B, =0.135 m? visl Hy ~ 0.048 m? i-1g S CO1l U¢t!ﬁt}'+ Given

1) 3 :
:3; ::‘: lojlsm | : (2] 1.6 smd‘
| o [4J 6.84 Sm‘l

26
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76. If a function {: [0, 2] - IR whcre R is the set of aﬂ ;:eal nmbcm is
d:ﬁned by ; ‘

; b
| ' s ] "

f={2-2)" veelo) . S
then {(f o ) (x) is cqua] to : | R
1} 2 @ox e B 10° m 2'

o 0% w4 [ [0 ﬂlqm.mﬁmﬂﬁmm«ﬁﬂqﬁu
2 |

: Y ir. o r‘- ' AE‘., sH e '_-v:}‘
gMio " ;
fx)y= (2_,;' ) we[n 2] _.-
| muﬂmﬁat agonqnwt | L
1) 2 @ x B3 10’ B . A
7. Ifx} + x + 1 =0 thes thé value of
r S i 3 % '
(2] ot o
AR ex+1-08 “?‘i.
‘ | | 2. 1 I" ; l t
[X“l‘—]"‘ X = -+ K +§- aﬂ- o+
X X SN
(1) 2 @) -4 gyt e @ 0
3T
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- 1+ 2i +3i7 :
-, The value of 75— *i,where i= [, is:

#2431 .
Toiea? T) 8T i= [, @7 |/ B

() 1+ (2) 1 (3) - 4) 0

2 aul) 3
1 3
W 5 > : .
- @ 3 B 3 @ 3
80. If *c,, = "¢, then the value of "¢, is :
ﬂf&'c,, = 'c,% a "¢, T AT T
(1) 20 (2 21 (3) .22 (4) 23

. ‘ . g
81. The value of the term independent of x in the expanision of [ X +—],-)

is : )
n

tIJ ':p (2} HC‘

3 £

3} “e, | ' (4) none of these

28
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[""“L,}?:% yare o x @ Taa ‘K:EEI =n=r ?

X
A e (2) ey
3 Ve, [4) @=H q Fg TEH

&
83. ( —‘2"] is equal to :
=0

n!
(1) 2e (2 0
(3) e (4) none of these
= n!
[24—;—%] quel ¥
(1) 2e | . 20 ©
(3) e @) v @ @i
83. The rank of the matrix is :
svagg & @ife ®
1 2 1 0
21 20
A%ly 2 1 0
1 21 6
{1) .9 (2) 2 (3) 1 4) 4
? P.1T.0.

L]
gcollegedunlaa
India’s largest Student Review Platform

—



. _44::,:40;1'?‘@!; |

84

Ifx,y, 2 are in hnthmettc P:ogreasmn thcn thervs]ue of the determinant

B8

ﬂﬁ‘x,?.zmmﬂﬁﬁmaﬁlﬂﬁ%

'_3 4 142x
4 5 142y
5: 6 142z

(1) o - - (2) 1 {3) 2.' : (4) x+y+z

85. The angle hetwecn two curves reprcscnted by 27 + OXy + 3y? + 6x +

86.

?5""‘4 013 : : i Bonitlu 7 . T

(1) tant[l} 7L RE s | ]

Y - @ (g

: - (_l_) | | N R |

(2) tﬂn" 3, | . .[4) none of these

B +5xy + By? + 6K + Ty +4'= OB FERNe A 4} B g % For

5
i

i w() @ wn{L)

1 A r!‘
FSF lan :(3] o @) 8 4 FHE ol
.y : 1{‘. 1‘_; ) " 3 ) . -

The vhlueigr lih{(l.;_z.) +—,‘;'£-""-J'+I, )
o el 2ty & -:-jOO{.g.m 18

Ca ¢

Iim{(l+-2~]l'+ 4"{"?'.)')1!._. _
==\ %) T - T00x3206] WA Y :

i .

() caf‘* {'2'.}: e;# '*(3) ¢+ 4 (4) 4

30
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87. A fupction v, :R — {~1,0,1} is defined by

r
L

]

11, 0%we=
‘ 2
.
va@={1 Sl
0, otherwise
1

1411/ 102/ 36841}

The number of points where y, is discontinuous Is :
-‘ wt oo :‘_ .

AW ), IR - {~1,0,1}

F ) l
. 0Oste—
: 2

lsid
2 ;

?H{l) = ‘l
| KA

ar aftwive ¥ Rrgedt @ d@em, It g, IETT ® -

1) 4 (2) 2 (3 1
| T . dy _ iy’
88. The solution of the differential equation i Vit
X = {},' i:s : ‘
gt sien . I
W : d.ﬂ I-K: »

l}}‘-ﬁ'ﬁy'-?; 2 y=tan'x (3} y=x

<30

@ 3

given y = 0 when

Rar 3 y=0 59 x=0,% & ¢ :

4} y=x
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89. If y = sin (sin x} then

i2~:’i+£‘|l"-tan:lw:+ cos? x i ual to:
Y ¥y cos® x 18 equal to :

| T y-sin(sinxjt o

dly d .
E;;*‘E’E tanx'!-?'cos*x Fuat ¥

{1] cos(sinx) (2} tanx (3} X 4 O
90. The maximurn valucnf[;l*) ,in 0<x<e,js:
I ]
{;] T O<x<w ﬂ'mmt :
1 |
() e @ (3 @ o “ e

91. The.value of !Lﬂji‘,nlr is :
(1) log,3 | (2) Jog,2 ..
3 1 (4) . none of these
N
I .
_l_nggﬁ el B C B 2N
(1) log,3 (2) log,2
3 1 (4) ¥ ¥ P

32
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,81

141/ 102/ 2i)

< dx
Thcvalucof!l,‘,m“ is :
afl dx ;
'!I+wlx ol a ¥
al 2 3 4 2=«
(1) 3 2} 3 @) =

If 3,5, arc three vectors then the value of E-{(E +a)x (i fﬁ + E}} ;'is j

g b G v ¥ ﬁ.i.{{i+i}l{i+s+ﬁ)}$l a4 ¥ -

1y o ] . ' (2) -EE,EE]
@ z[aﬁ,a] | ). 3[a.5,¢]

A bag contains 3 white, 3 black and 52 red balls. One by one, th::ec
balls are drawn without replacing them, The probebility that third
drawm ball is red , 18 ¢

' ' o @ 9 g,
qm&msaﬁﬂ:,ammzmhmhmﬁw
ﬁmgﬂraﬁﬂm,m?ﬁlwmwﬁﬁ:%amﬁﬁ
sRve ¥4 . .

i 1 e L Ao
m g . @ 3 3 3 -

34 ip.TO.
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95,

97.

It lanﬂ:ﬁ, 180° < ¢ <270°. then sing is:

3 1
(1} —w"i . {2) —%: (3) 3 {4) none of these
2

AW tna=43, 180° <a<27¢°, A sinea

m -5 @ ,32_5 3 %— 4 &0 & a4t

In any AABC #2Cos A = E’ then triangle is ;
(1) equilateral (2) isosceles
(3| right-angled (4) scalené

PR aaBc #, uﬁzcosa-n Qﬁ\‘fﬁ’gﬁ%

(1) HHEg e (2) wfemrg

@) Ty (4) Rrrsag

H‘ {e.)” isa sequence such that 4, =Z-‘r HneN, where N is the set .

M-I

of all natural numbers, then limea, s .

Qﬁ{a_,%wmﬁmkﬁsa t-—VHEN RN Gt

m@ﬁlﬁﬁﬂmﬂeﬁwaﬁmt at lima, %),
{1) © 2) 1 - (3 e-1 (4) 2

. 34

L]
gcollegedunlaa
India’s largest Student Review Platform

T



14U/ 102/ 28{ti)

98. Find the equation of one line in xy — plane, which passes through the
point {3 4) and the sum of ita intercepts on the axis is 14.

*xyaaﬁ %WHWWW G?r(34)€tgﬂ'&ﬁ%mm&ii
OT WX R =y @Bt W adT 14 B

x X }';
W F+i=t @ It @ xey=7 @ e

L

r

99. A variable line passes through the point of intersec Linn of the straight

lines %+§=‘| and 4+*§“‘1 and cuts thc co-ordinate axis in A and B

respectively. The locus of the :}ud-pnmt of AB 1s ; ‘ !
@m%mmwm L L § ! aa@zﬁga
W%wﬁﬁﬁmmﬂa&mﬁaahsﬁgwm%lm
& woy Ry o Rrgaw ® ¢

| 3 Vol g L3
T =2 @ orTl W tST3

1 1
= -— -
s @) 375

1
Y
100.The centre ofthncirclexf-wﬂ-m-r 2y =11 = 0 is :

ga x? + y? - 4x+2y usoaﬁr#ﬁ% .

3s
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Section - IV
ooz IV
Botany and Zoology
(Botany)
101. The fungus commonly known as bread mould is :
(1} Penicillium (2} Aspergillus
(3) Rhizopus (4} Neurcspora
AT AENES T & o I el e ¥
(1) R (2) QEITHTT
(3) T (4) Ry
102, The isogamous mode of sexual reproduction 18 found in :
(1) Phytophthora (2) Polysiphonia
(3} Spirogyra : (4)  Riccia
qugTIE et § R goee Read qr Srar B
(1) Frgetwedite (2) wHEEFEET
(3) qwEdTET 4) R

103. Which one of the following microbes serves as a suitable biofertilizer
in the water-logged paddy fields?

{1) Aulosira (2) Albugo
(3) E. cok (4) Ulothrix
Fre=fafee & @ 99 @ A9a ot X 99 B Qa ¥ e arar 27
(1) STINEFT (2) e
(3) o R (4) FohrrRT
104.The early biight of potato is caused by :
(1) Fusartum | (2} Ustilago
(3] Altermaria {(4) Albugo
36
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ARG B A A AT | TE B

(1) AR | Q) oriarn
(3) vwRTTHRar @ ST
" 108.Methane is a biogenic gas produced by a member of :
(1) Eubacteria (2) Archaea
(3) Eukarya (4} Protista
fR uw e e e o wa @ Swifa e @7
(1) FFRFRA ) R
(3) SRR (4) @ewT
IM.Whi::h. one of the photosynthetic pigments is water-soluble?
{1) Carotenoids (2) Xanthophylls
{3) Chlorophylls - {4) Phycocyanin
maam-mmmmmwﬂwma?
(1) FNe=AS 2) I=iea
(3) TR 4) wwRaEtE
107.Lignin is the most important constitupnt in the cell wall of :
(1) Parenchyma (2) . Cambium
(3) Xylem (4} Phleem
Rrfae TR o g IR S R A aar ® ?
(1) Y= (2) dR=TTm
(3) omgenT (4) TEH
108. Nitrification is the process of t;te bacterial conversion of :
ARt IR AT SEed W O R @
(1) §O, to NH, @) N, 1o NH,
{3 NH,to N, (4 "ﬂw ® NO,
37 | ; | PquOv
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109.The seed in the angiosperms develops forir a the :
{1) Ovule (2) Carpel (3) Embryosac (4] Anther

et 3 991 few @ A Rl B ¥
(1) ofrge 2) I (3) wmE dw 4) o

110, The Botanical Survey of India is located at :

(1} Lucknow {2) Howrah

[3) Cuttack. (4} Bhawnagar

A W RS 93 e e el 2 7

(1] <ETH (2) EBI&r (3) <h<HH (4) HEIR

111. The most important funcuon of microtubules in thc cukarjmtm cells

is to

(1) form mitotic sp:ndles (2) excrete cellular wB;stcs
(3) form ribosomes ' (4) helpin respiration
E'Q[c%ﬂ&rﬁzs RiftrR & Argwegyer: oA By Bl &

} AR TNEA F9H F
(2] ﬁﬁmémﬁwﬁwm
TR eet 9T tREEs #7 T
(4) ANF @ o7 F wheraa

112. The protonema stage of the moss plant is a :
{1) Haploid (?) Diploid (3} Triploid = (4} Palyploid

o et A o sreTaes s §
(1) SRm (_2) TPa 3) RRm (4) 'aggﬁa
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113. Which one of the following chemical ions: holds together thegtwo
subunits of 70S ribosomes?

(1} Calcium (2} Sodium (3} Magnesium (4} Iron

ﬁwﬁ%ﬁ—mmmm?osmﬁﬂmﬂww
S O 2-

(1) dRwaH (_2j afEaw  (3) ﬁ*r%f‘ﬂun {4) AETH

114. Which of the following is a ron-proteinaceous enzyme?

(1) Lysozyme " - {2} Ribozyme \
(3) Lipase ' (4} Taq polymerase
et # @ @ o R o oo ¥ 7
(1) sEEeTE (2) TR
(3) T (4} ¥ At

118, 'Opium’ is obtained from which of the following parts of t.het plant ?
{1} Roots {2 Seeds
{(3) Leaf-buds ' (4}, :Unripe capsulcs
gt B e o AT ﬁ am&h Ty g @ 7
(1) 9% & y (2) ®H 4
(a)qﬂ’r%ﬁhﬂ . [4}&@@%@%

116. Which one of th:: following enzymes heips in the ﬁxatwn of CO by
green plants?
{}) Urease (2) Rubisco (3) Lipase [43 ngnse

Pt & R 6 ToRE A It 7o, %Rerﬂmwﬂmmm
t ? : i‘*},-“:.“‘,.f ‘ iy
Lo W o (3) - S gt iﬂ“ﬂ

3 9 ’S -.O+
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117. Which of the following is the main cause for acid rain?

(1) Ozonc depletion (2] Increased level of UV-B

(3) Rise.in green-house gas (4) High level of 30, in the
_ atmosphere

ﬁmﬂﬁmwmwmww% ?

(1) STl ¥ Ryary |
(2j UV-B &t wmr # szl
(3) #rwea M aga

{4} SO, ® AXT HIET AYHsH o
118 Which ohe of the followirlg pélrs is ‘correctly matched ? |

{1) Stmptumynes - ' Peniteliin
(2} Gelidium -~ 3aprophytic
[3) Aganms - Mushroom
(4} Azofobacter - - Photosynthetic
Rt gnt & B af gafm B 7
(Y ety - At
2} #ﬁfﬂw - Ashfteferds
(3} SrMftsw - WIS
(4) GUTITT - wEer-daiyg
119. Thg haploid plants are o.btaincd from :
{1} Potlfm . (2) Zygote
{3) Seed germination (4} leaf cells
ST % fred st St ¥ 2
(1) A , (2) RIS
sfpRa fiw (4] o=t N FfEw
40
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120.The erythromycin antsbiotic is the Kkiller of-
{1) Fungi (2)., Viruees - (3) Eubacteria (4} Green B.IFEE

sferEi oharifes Rrad fae s ) |
(1) %6 (2) Py (3) TWWRR@W (9 qﬁm

121. Which one of the following endosymbionts is associated with the
corotloid root of the Cycas? 1

(1) Rhizobrum (2} Anabaena- -
(3} Frankia I (4} Azospirilium

Prg § § 09 TF AESY B BEaE % § RREEERe &
T B ?

(1) UsHRTT (2) gTHaAT

i3) PFegr . (4) QRIS
122. Aril is the edible part of which fruit ?

(1) Litchi (2) Mango

(3) Banana (4) Apple

fﬂ?ﬂﬁﬁﬂ.ﬁﬂﬂﬁ‘mmﬁ?
(1) ®=R (2) SN (3) &= 4) 99 .

123. Plastocyanin is the metalloprotein that contains :

R o Reza-de ¥ Rra®t awr omen ¥ ?

{1} MO - 2) 2Zn (3] Fe (4] Cu
124, Endosperms of angiosperms are : ,

{1} Diploids {2) :Ha].?_lo.ida

{8). Tétroploids (4], Trighoids. .

41 'q.'r.o.
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dferfend = gy Bt @

(1) R (2 aYem
(3) =gaferer (4) PP
128.The credit of ‘Green Revolution® in India goes to
(1) B.P. Pal (2) M. S. Swaminathan
(3] R. P. Roy (4} P. K. Gupta
Ry ¥ ‘sfe wmife’ & e & A sar & 7
(1} #o ti’!‘n qrer (2) THo UJo R
{3) aMTo Wo T4 (4) o o M
42
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{Zoology)
126, Five kingdom approach of classification was suggested by -
{1} R. H. Whittaker (2) Carolus Linnaeous
(3) Casper Bauhin (4} Themas Johnson

ifieper & i T TERY W GEEr R e
(1} 3T, o9, Py & a| (2) Hdea fofHag & s

(3;%&'{3131%1%'“ | (4) 9 g SHET & A
127.Zoological name of domestic dog is :
(1) Felis indicus (2) Equus caballus
(3) Canis familiaris (4) Canis vuipes
R I B AT AmAS AH & :
(1} Bfrg sfssq (2) §99H I
(3) S dEfrA 4y #Fre Fo99
128.Liver fluke belongs to phylum :
(1) Aschelminthes (2) Platyhelminthes
(3) Annelida {4} Ctenophora
Ta B WY A T ¥
(1) cehsferdT (2) SR
(3) T (4) IFTBIT
129.Which of the following is not characteristic feature of phytum
Chordata?
(1} ‘Notdchord {2) Dorsal hollow nerve cord
3}, Vemtral nerve cord (4} Paired pharyngeal gill slits

¥
43 | *.7.0.

L]
gcollegedunlae
India’s largest Student Review Platform

—



14U/102/26(11)

Froffafaa & G 99 FEeT 9 o ey Tt @ 7
(1) N=HE (2) I T wiEEs o
(3) ata g dfFer o9 (4) goire e e =

130.Which of the following is egg laying mammal?
(1) Flying fox (2) Kangaroo (3) Blue whale (4} Platypus

Freffag § @ a9 arosT 29 grr waard & 7
(1) TR B (2] BT= (3) e 2 (4) <dqy

131.The epithelial cells found in our lung are classified as :
(1) Simple epithelium - (2) Compound epithelium
(3) Sguamecus epithelium (4) Glandular epithelium

BIR Bh8 H Rl A ety .
s mm&wﬂ%%ﬁﬁ

(1) SR oqifeaimEm (2) Hga, YR

(3} v=ht wdifafers (4) T wdferfern
132. Excretory organs of earthworms are called :

{1} Metanephridia (2) Scrlcnucytca

(3] Malpighian tubules (4) Green glands

{1 A=TmifeTr (2) ATEEeH

(3) Aediftras wfermm 4) A9 e

133.Typhlesole is found in the alimentary canal of :
(l) Cockroach (2] Pigenn (3) Earthworms (4] Fish
TS, SFTEICI & urfy oy R
(1) fererareen (2) HFET (3) BT (4) =ee!
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134.Which one of the muscles proteins shows enzymatic activity?

(1} Actin (2) Myosin
(3} Tropomyosin - (4) Troponins
P-8 0h W AT Rrvaw afvaar #t aefiia sl @ 7
(1) e (2) AT
(3) ﬂ'ﬂ"-mhﬁﬁ 4) D=
138, Which of the followmg animal cell organelles contains genetm
machinery?
(i) Lysosomes (2) Golgi Complex
(3} Ribosomes (4) Mitochondria

meﬁﬁﬂﬁﬂwwm'mﬁ
(1) SERE 2) TN BT
(3) IEEETT (4) AZTRIOZOT

136.Removal of the terminal phosphate group from ATP provides energy
by cleaving :

(1) Glycosidic bond

(2) Phosphodiester bond

(3) Phosphoric acid anhydride bond
- (4) Phosphoric acid ester bond

ATP % B T HiGT U8 & ®F-RYT § At fagesd &t g
o ¥ .

(1) "rERfaiEs a9

(2) WlEhEguET &9
[qmﬁﬁmmmmw
'ﬂﬁﬂﬂiaﬁrmw
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137.The tissue that maintains the normal blood glucose level during

Jasting?

(1} Skeletal muscles (2) Liver

F(S) i—iéart (4) Pancreas

o€ HaH I W THT &S S B IR 9ER TR S 8
(1] T AT () THd

8) &3 (4} HAHRH

138, Which of the brain lobes is associated with executive functions?
(1) Occipital lobe (2) Parietal lnbf.-
(3) Temporal iobe (4) Frontal lobe

‘qmﬁﬁwzﬁmmfﬁvﬁw—qwﬁnﬁmﬂwﬁua%?
(1) swfifves Rvs (ergmania fve)

2) Thoear Rvs | *

43) THIRE Fos

(4) o7 Qs

139.Na’-K* ATPase pumpis.:.
(1) an anti port ion channel (2) a symport ion channel

(3) a ligand-gated ion channel (4) a leak channel

Na' - K* AT Pase T%7 @ :
(1) ST & afdodt ga9 Wt (2) w8 v sTme At
(3) T AHUS-ATEs s wef (4) FEm anf
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140. Which part of spermatozoa réleases enzymes needed for fertilization?
(1) Middle piece(2) Tail (3} Acrosome (4) BHead

AN @ R wrr @ P & RA smavas frvas gy 83
7

(1) ¥ qRT (2) 9B (3) s (4) s

141, Glucose and fructose in sucrose are linked with :

(1) B0 —2) glycosidic bond {2) B(l - 4) glycosidic bond
(3) a(l—4) glycosidic bond ‘(4) a(t>2) glycosidic bond

gepler & =gt ol wadlw wig F o o ¥
(1) B2 2)ERRABE &7 (2) B - 4)RITRAES T°g
(3) a(l->4)TERRE 9 (4) a()TERGRES o

142.An mRNA with a sequence §'- UAA GAC AGG CGA UGC CUA-3' is
reverse’ transcribed into ¢cDNA. Which of the following has correct
sequence of the cDNA?

@ mRNA RTE® %% 5’-UAA GAC AGG CGA UGC CUA-3’ ITreAig
gfefaiy cDNA # & it 81 Prrfflrer & & 9 &1 cDNA = Tl
i

(1) 3’-ATT CTG TCC GCT ACG GAT-S'

(2) 5°-TAG GCA TCG CCT GTC TTA-3’

(3) 3-AUU CUG UCC GCU ACG GAT-5"

(4} 5’-UAG GCA UCG CCU GUC UUA-3

47 KT.0.
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143.The theory that the first form of life could have originated from pre-
cxisting non living organic molecules was proposed by :
(1) Oparin and Haldane (2) Watson and-Crick
(3) Stanley Miller (4) Louis Pasteur
et 3w @S i Iy wadt Prfis st oot & g, 5w
era H1 g /B T o |
(1) sifrT ofr B2+ (2) agET T fors
(3) AN AR (4) T . qEHT

144, Which one of the following is not an example of convergent evolution?
{1) Evyes of octopus and mammals |
{2) Flippers of Penguins and Dolphins '
(3) Limbs of man and fins of whales
(4) Wings of butter fly and birds

i # @ 217 sfward g w1 JgmRor 1 B 7
(1) Srrdg oy <earh A ofie

(2) I T TRET A Ty

(3) A7 & By iR &« P dw

{4} ey ot faf3df & da

145.EcoRl, a restriction enzyme, functions as :

(1) Endonuclease (2) Exonqclcase
(3) Endq peptidase {4) Esterase
Eco RI, & ufreer fpvaws, =t wear & -
(1) T=FgfRaasT (2) TRt
(3] T=F oy (4) RIS
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146, Malignant malaria is caused by infection of : ,
(I} Plasmodium vivax (2) Plasmedium maglania
(3) Plasmodium falciparum {4) Plasmodium gingivalis

gl TRy B dEEer W HRE ¥

(1) @rRTT TEIT (2) gy Felar
(3) QR hehider (4) QrERTR AR

147.9iRNA standa for: |
(1) Small intermediate RNA {2) Small interfering RNA

(3) Small interacting RNA (4) Small intermittent RNA
si RNA &1 ORI P
(1) 9y Rwwadl RNA (2) ¥Y FEROT RNA
(3) WY FTUNET RNA (4) Mg ARTTUS RNA
148, The secretion of sebaceous gland is :
(1) Sweat {2) Tears (3) Ear wax (4) Sebum

TRy Y W HEer ¥ o
- (1) e (2) ¥4 (3) &9 Ze (4) EET

149. Which one the following peptides is removed during matutration of

ingulin? |
(1} A chain (2) Bchain (3) C peptide {4} D peptide

49 p.T.0.
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180.The interaction between two species where one species js benefited

and the other is neither benefited nor harmed is called :
(1) Mutualism (2) Commensalism
(3) Parasitism {(4) Amensalism

%mﬁﬁ%ﬁaﬁﬁwmﬁaﬁ@mﬁmﬁﬁ.ﬁm@

Z
(1) *gefers (2) FRTART

(3) wfeoffer (4) TRAART

80
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Section -V
gz -V
Agriculture

181, Bodo mixture is :.
(i) Fungicide (2} Pesticide (3] Weedicide (4) Herbicide

(1) BN AWE (2) HEAE
(3) WRYEAR D (4) sfiEEs

182. Element required by plant for oil formation :
{1) Nitrogen (2) Potassium (3} Calcium (4) Sulphur

ﬁahﬁw%%ﬂmaﬁaﬁaﬁwm&:
(1] @ (2) e (3) SezaH (4) TEHT

153. Percentage of oil in Castor :

vt § A9 o afde & B o
(1) 52% (2) 44% (3) 62% (4 65%

184. Percentage of nitrogen in calcium ammonium nitrate is

AR SR e ¥ Aggio W IR AT 2
(1) 18% (2) 25% (3) 30% {4} 35%

‘185, Highest percentage of nitrogens in stool of animal :

(1) Cow (2) Elephant (3) Sheep (4) Horse
ﬂgiw f g @ wa@ oanl AE 8 oA ?
NI @ ®h 3 W @) ST

51 : t-'-ﬂ '
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186. Colour of Laterite soil is :

(1) Red (2} Yellow (3) Green (4) Black
AR geEradt W GT A B
(1} = (2) W (3) & (4) BT

167.Which of the following are features of Indian agriculture?
0} Disguised unemployment (I) High productivity
(i1} Majotity of large farmers {IV} Gamble in the hands of

Monsoon
(1}Iand I (2) Il and 11
(3) I and IV (4) I and [V
M1 8 @ @ Wi i @ oo @7
Mm Bd RNesmwh () T=7 I
) =2 FE=t 3 rftemen (V) A9 A & o
(1afa (2) i1 31
(3) i1 afrT1v (4) 191V

158.The impact of Green Revolution was felt most in the case of :

(1) . Wheat (2) Rice
{3) Pulses (4} Oil seeds

sﬁamﬁﬂﬁmﬁwnﬂmﬁwﬂﬁﬁmﬂmaﬁmm
qzT

(1) g (2) =R (3) T | (4) qwew

189.1n india maximum sugarcane is grown in :
(1) Madhya Pradesh (2) Tamil nadu
(3} Uttar Pradesh’ (4) . Maharashtra

52
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iAo maifas = Y= Rear smar B
(1) 5eg q391  (2) oferTg  (3) SWR U39

160.Indian Vegetable Research Institute is situated at !

{1} Bareilly (2) Kanpur (3) Karnal
ARG A% AR IEY % Raa #

14U/ 102/ 26(ii)

(4} WS

(4) Varanasi

(1} el (2) WAYL (3) HEA (4) ATV
161. Percentage of rice in paddy is :

o &} S A mRewr A Al @

(1) 5.0 (2) 7.0 (3) 8.0 (4) 9.0
162.Funp are active in soil at pH?

Fa% B o TEe W o 7 Brde T 27

(11 5.0 (2) 7.0 (3) 8.0 (4) 9.0
163. Optimum temperature for germination of wheat is :

A B ofgha A W vy ohww awm ¥ |

(1) 14-16% (2) 24-26%¢ (3} 30-32% (4) 34-36%
164.'Kisan Khad' 18 Know as :

{1) Ammonium sulphate | {(2) Ammonium Nitrate

(3) Urea (4) Calcium Ammonium Nitrate

fHua =g’ HEArn ¢ 4

(1) SMfAuR qebe . (2) ordifrgs AEge

(3) R | . (4).-mm=ns§:z-

53 ».T.0.
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168.Indian Pulses Research Institute is situated at :

‘(1) ‘New Delhi (2) Kanpur (3} Bareilly (4} Karnal

e weree srgEaT R e B 0

(1) R (2) g (3) JN (4] HEA

166.'Jhulsa’ disease is due to deficiency of :

(1) Zinc* (2} Iron (3) Copper (4) Suiphur

_‘gﬁrﬂi’ﬁlﬂlﬁaaa‘?rmﬁr'ﬁiﬁﬁr%:

(1) Riw (2) oer (3) diEr (4) HEHT

167.Generally U.P. soils have organic matter percch tage .

Wﬂ%&fﬂﬁgﬁﬁaﬁaﬁ?mﬁﬁﬁnﬁﬁﬂwm

et 8 - _
1) 0.1t00.3% (2) 0.3 to 0.5%
(3) 0.5to0.7% (4} 0.7 to 0.9%

168. Temperature of cold storage for storage of potato should be :

Y B TR & RY Hes WIS W AGIHT BT 9IRR
(1) 10.0to 7.5% . (2) 7.0t05.5%
(3} 5.0t03.5% .. (4). 1.0t02.5%

169. Micronutrient essential for paddy cultivation :
(1) Molybdenum (2) Zinc
(3] Caopper (4) Boron

e % e g7 a omEvas R

) AT @ ME @) @ (4) ®wr
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170. Which crop is both leguminous and oilseed :
(1) Sunflower (2) Kusum (3) Soyabeen (4] Mustard
Fr1 & &9 & woae seea o1 R & R
(1) gEme  {2) FF @) PEEE (4 |/

(

171.In India the ratio of the populatioi of meén and animals :

wras & Wyt e oyelt A S & o
(1) 2:1 2) 12 3 1:3 (4) 1.4

172. Storage of semen in refrigerator is done at temperature :

WeNTT 3 e arorT ax D &1 somrer Brar aen ¥ |
(1) S5°C {2) 10°C 3} 15'C (4) 20°C

173. Lactation period of Murrah buffalo is : .
(1) 260days (2] 300days (3) 330days (4] .360 days

1t A W ol 3w T d ¥
(1) 260 B (2) 300RY (3} 330R+A (4) 360 &=
174.Indian hen on an average gave eges .

aAd it wy At 7 oo e AR ¥
(1) 20 (2) 40 (3) 60 (4) 80

178.The average percentage of fat in paneer is :
iR & Far & Mwes o wEr od Sl 2

{1) 15 (2) 20 (3) 28 (4) 35
176.Discase caused due to deficiency of Vitamin ‘B’ is :
(1) Scarvy (2) “Night blindness
s ) ickess

i s . ’111-0-
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et A AR IS
(1) *d (2) it
(3) f T4 (4} R@e

177.Seed rate per hectare for cauliflower is :
(1} 200 gm (2) S00gm (3] 800 gm {4) 1000 gm

T At & 9% e =7 ofy Bueaw |
(1) 20009  (2) 500%™ (3) 800 UTH (4) 1000 AT

178. Pungency of onion is due to :
{1) Allyle Propyl disu!;?hidc (2) Allyl propyl sulphide
(3) Carotene | (4) Alicine
oot & dremaT @ ¥ |
(1) TONSET SIS T TEHIS  (2) COISH NIUWE HeHEs

(3) F0EH (4) oA

179.Consolidation of holdings as a land- reforms measure failed to take
off in : ' ,
(1) Punjab (2) Haryana (3) TamilNadu (4) U.P.

qf gur B @ U 3 w9 X wra) P # @ B 1T 3 geerEr
N IZM Jél 9T T 7
(1) = (2) sfmrm  (3) o (4 IO MW

180. Vitamin present in green chilli is :
{1) Vitamin A (2) VitaminB (3) VitaminC (4) Vitamin D
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181. Mango is fruit :

{l) Sorosis {2) Drupe {3}
A e ¥
(1) aAfdm (2) Z9 (3}

183.Carbon percentegg in raw iron is :
we, o 3 ks w5 afea wer B

(1) 1.5% (2) 3.5% (3)
103.Unit-of work is :

(t} Kilogram @

(3} Pound (4)

TR W g B

(1) Fretramy (@)

(3) 9IS (4
184.0ne horscpower is equivalent :

(1) 674watt (2) 7l4watt (3)

o SR (v R woaT B B

(1] 674 aE (2) 7148 (3)
185. Lowest part of atmosphere is : ‘

{1) Troposphere (2)

(3} Btratunphm [4J

14U/102/7261i)

Berry (4) Nut
¥ 4) € -
‘5.5% ‘(4} 7.5%
Jule

Meter Kil?gra.m

=

HreT s

746 watt (4) 764 watt
746 T {4) 764 T
ll[c:sosﬁhera
; Io.nusphere

-p.'r.o
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186. Regional rural banks were established :

f=fa anfer & A wner w8
(1} 1970 (2) 1975 (3)- 1980 (4) 1985

187.World Bank is situated at :

(1) Newyork (2) Jakarta
(3) Washington D.C. (4) Tokiyo
s fm i -
(1) T (2) BRI
(3) #=f¥ireT Hodio (4) DFFS
188.0ne hectare nursery of paddy transplanting can be done of :
{1) 10 hectare (2) 1S5 hectare
{3) 20 hectare ' (4) 25 hectare
T ERAT A0 A a9 & &9 F o ) on wnd) X-
(1] 10 ¥FRGY (2) 15®F2GT
(3) 20 3R (4) 25%RUT
189, Namt.: the State of India having average highest production of cotton :
(1} Punjab {2} Maharashira
(3} Madhya Pradesh (4) Uttar Pradesh
mymmmmmﬁmmammu
(1) 9o (2) HEIUSy  (3) AT WRRT [4) IOY SR
190Q. Colour of ash of good tobacco is
(1] Yellow (2) Red (3) Black (4) White
oTes) Trearg W U™ % GT R X -
() o . 2 =T (3) =T (@) TPE
FSB
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191. Study of green aquatic thallophytes is Known as?

(1) Parasitology (2} Phycology

{3) Mycology (4} Myology

As-g5 RAT oy wt A B oremmw @ A @ ¥
(1) - ' (2) o Iwgm=
(3) FHAE TGH (4) -"E-geht areras

192. Nitrogen is present in Urea as :

(1) Amide (2) Ammonia (3) Nitrate (4) Nitrite
. g & g Rew wa F o o & 7
(1} ©ARS (2) smfrn  (3) TEgE (4) “TEEEE

193, Dwarf varieﬁes dl‘ wheat were introﬁuccﬂ in [ndia in which year 7

wraed # df anfr B g oA BRE A A gan
(1) 1960 (2) 1963 (3). 1970 (4) 1973

194, Eatable portion of potato is :
(1) Root {2} Stem (3} Branch (4) Flower

IR T WA TR AT @
1}y 9% (2) <= (3) e (4) IN

198.Colour of Murrah buffalo is :
(1) Dark black (2) Copper type

59 . X XY
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P S G dan @
(1) & e
(3) T

196, Origin of Jamunapari goat is :
(1) Etawah (2) Aligarh

AT FHE H gA @ ¥
(1) e (2) ST

197.NAFED is an organisation of :
{l1) Nagpur orange growers

(2) Naticnal level farmers

(2) QI
4) = G

(3) Agra

(3) AT

(4) Etah

4] W<

(3) Marketing agency for inter-state marketing of agricultural

produces
(4) None of these

NAFED F= & @ fpmay §en ¥ 7
(1) AR & daa st

(2) Ul w1 @ et @t

(3 PN SOURT F ST Bove & ool @)

(4) IgTEa & 9 FE Tl

198. Avcrage temperature of hen is :

T @ AT araa B R
(1} 101°F (2) 103°F

60

(3) I105°F

{4) 107°F

30,000
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- 199.Crop insurance is the monopoly of :
(1) National Insurance Company
(2) Genreral Insurance Corporation
(3) Life Insurance Corporation

(4) NABARD

wae ooy § qasrﬁram B .
(1) AT =T BT (2) YTE RO HNiEH
(3) TEE FIAGH HERTA (4) A€ (NABARD)

200.Seed rate per hectare of chilli is :

P o ofy RRa do AT R
{1} 0.5 kg (2) 1S5 kg 3} 3.0kg (4) S.0kg

61
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ROUGH WORK
s ¥k

62 -
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10.

t1.

12,
13.
14.

gﬂwtmmwmmn*ﬁiﬁw

e mﬂ-wm-m'!hﬂ'ﬂﬁi)‘ -
mwm%mm%mﬁuﬁmmﬁww:ﬂg%w
mwwﬂtlgﬁawﬂmmﬂaﬁmw#’twmw-ﬁﬁ&ﬁ
mﬁ;«ﬂwﬂmﬁﬁl .
mmﬁmmm-thMmmaﬁfﬁqm 'Y
ER :
w*wm#ﬂwwt:w:ﬁﬁm:ﬁﬁwtﬁmm—wﬁﬁwaﬁm
Fwer yT-a% BV § geaies, faver AT/ . |
mmmmmm'ﬁmmw-wmﬁaﬁmmm@m
sor-0x & YUR T 7Y 37 W SGA YT Mnmwﬂmﬁﬁ;’gﬁg
Wmfiw-wfmﬁ!ﬂm-gﬂmmmmwmm
ot firal; :

o e ATo T wew, Trayfrer Wow T ¥z Wow (v WY B) ™™
fﬁgw;ﬂﬁ;"ﬂ: it e (e FTo X mﬂwfmﬂm

- giftwy ¥ T #ﬁmmﬁnﬂt‘fwm#mmtm
::s?m-wdn:'ﬁuﬁﬁtmﬁnﬂgwdm-wtmwwﬂ#ﬁ
AT & aort ST @ myr wew b | |
i A & 3 (0T 3 U6 B 49 @ T ) w6 @ e g A S
ﬁmwwﬂmﬂﬁmwmwmaﬁmu
mé’ﬁwmwﬂmmmmm’wmh nﬁmﬁm@ T & TH
297 dar wt §, ﬂmdﬁtm&ﬁw&wﬂﬂMﬂ;ﬁ o7 oy T g
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